
 
Prove the below closed form 

∫
𝐭𝐚𝐧−𝟏(𝒙)

√𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 =
𝝅

√𝟐
− √𝟐 + 𝟐√𝟐 𝐭𝐚𝐧−𝟏 (

𝟐√𝟐 + 𝟏𝟎√𝟐

𝟕
) 

Proposed by Ankush Kumar Parcha-India 

Solution 1 by Rana Ranino-Algerie 

𝛀 = ∫
𝐭𝐚𝐧−𝟏 𝒙

√𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 

𝛀 = [𝟐 𝐭𝐚𝐧−𝟏(𝒙) √𝟏 + 𝒙]
𝟎

𝟏
− 𝟐 ∫

√𝟏 + 𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 =
𝝅

√𝟐
− 𝟐∫

√𝟏 + 𝒙

𝟏 + 𝒙𝟐

𝟏

𝟎

𝒅𝒙 

𝛀 =⏞
𝟏+𝒙=𝒕𝟐 𝝅

√𝟐
− 𝟒∫

𝒕𝟐

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟏

𝒅𝒕 = 

=
𝝅

√𝟐
− 𝟐∫

𝒕𝟐 + √𝟐

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟏

𝒅𝒕 − 𝟐∫
𝒕𝟐 − √𝟐 

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟎

𝒅𝒕 

𝛀 =
𝝅

√𝟐
− 𝟐∫

(𝟏 +
√𝟐
𝒕𝟐 )

(𝒕 −
√𝟐
𝒕 )

𝟐

− 𝟐 + 𝟐√𝟐

√𝟐

𝟏

𝒅𝒕 − 𝟐 ∫

(𝟏 −
√𝟐
𝒕𝟐 )

(𝒕 +
√𝟐
𝒕 )

𝟐

− 𝟐 − 𝟐√𝟐

√𝟐

𝟏

𝒅𝒕 

𝛀 =
𝝅

√𝟐
− 𝟐∫

𝟏

𝒖𝟐 + 𝟐(√𝟐 − 𝟏)

√𝟐−𝟏

𝟏−√𝟐

𝒅𝒖 − 𝟐∫
𝟏

𝒗𝟐 − 𝟐(𝟐√𝟐 + 𝟏)

𝟏−√𝟐

𝟏+√𝟐

𝒅𝒗 = 

=
𝝅

√𝟐
− 𝟒∫

𝟏

𝒖𝟐 + 𝟐(√𝟐 − 𝟏)

√𝟐−𝟏

𝟎

𝒅𝒖 

𝛀 =
𝝅

√𝟐
− 𝟒

[
 
 
 

𝟏

√𝟐(√𝟐 − 𝟏)

𝐭𝐚𝐧−𝟏

(

 
𝒖

√𝟐(√𝟐 − 𝟏)
)

 

]
 
 
 

𝟎

√𝟐−𝟏

= 

=
𝝅

√𝟐
− 𝟐√𝟐√𝟐 + 𝟐 𝐭𝐚𝐧−𝟏 (√√𝟐 − 𝟏

𝟐
) 

Using identity: 𝟐 𝐭𝐚𝐧−𝟏(𝒂) = 𝐭𝐚𝐧−𝟏 (
𝟐𝒂

𝟏−𝒂𝟐) 



 

𝛀 =
𝝅

√𝟐
− √𝟐√𝟐 + 𝟐 𝐭𝐚𝐧−𝟏

(

 
𝟐√√𝟐 − 𝟏

𝟐

𝟏 −
√𝟐 − 𝟏

𝟐 )

 =
𝝅

√𝟐
− √𝟐√𝟐 + 𝟐 𝐭𝐚𝐧−𝟏 (

𝟒√√𝟐 − 𝟏

𝟑√𝟐 − 𝟐
) 

𝛀 =
𝝅

√𝟐
− √𝟐√𝟐 + 𝟐 𝐭𝐚𝐧−𝟏

(

 
𝟐√(√𝟐 − 𝟏)(𝟐𝟐 + 𝟏𝟐√𝟐)

𝟕

)

 = 

=
𝝅

√𝟐
− √𝟐√𝟐 + 𝟐 𝐭𝐚𝐧−𝟏 (

𝟐√𝟐 + 𝟏𝟎√𝟐

𝟕
) 

∫
𝐭𝐚𝐧−𝟏 𝒙

√𝟏 + 𝒙

𝟏

𝟎

𝒅𝒙 =
𝝅

√𝟐
− √𝟐√𝟐 + 𝟐 𝐭𝐚𝐧−𝟏 (

𝟐√𝟐 + 𝟏𝟎√𝟐

𝟕
) 

Solution 2 by Cosghun Memmedov-Azerbaijan 

𝛀 = ∫
𝐭𝐚𝐧−𝟏 𝒙

√𝒙 + 𝟏

𝟏

𝟎

𝒅𝒙 =
𝑰𝑩𝑷

𝟐(𝐭𝐚𝐧−𝟏(𝒙)√𝒙 + 𝟏)|
𝟎

𝟏
− 𝟐∫

√𝒙 + 𝟏

𝒙𝟐 + 𝟏

𝟏

𝟎

𝒅𝒙 =
𝝅

√𝟐
− 𝟐𝑨 

𝑨 = ∫
√𝒙 + 𝟏

𝒙𝟐 + 𝟏

𝟏

𝟎

𝒅𝒙 =
√𝒙+𝟏=𝒕

𝟐∫
𝒕𝟐

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟎

𝒅𝒕 =
𝒕→

√𝟐
𝒕

𝟐∫
√𝟐

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟎

𝒅𝒕 = 

= ∫
𝒕𝟐

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟎

𝒅𝒕 = ∫
√𝟐

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟎

𝒅𝒕 = |→ 𝟐| = ∫
𝒕𝟐 + √𝟐

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟎

𝒅𝒕 

𝑨 = 𝟐| = ∫
𝒕𝟐 + √𝟐

𝒕𝟒 − 𝟐𝒕𝟐 + 𝟐

√𝟐

𝟎

𝒅𝒕 = ∫

(𝟏 +
√𝟐
𝒕𝟐 )

𝒕𝟐 + (
√𝟐
𝒕 )

𝟐

− 𝟐

√𝟐

𝟎

𝒅𝒕 = 

= ∫

𝒅 (𝒕 −
√𝟐
𝒕 )

(𝒕 −
√𝟐
𝒕 )

𝟐

+ (√𝟐√𝟐 − 𝟐)
𝟐

√𝟐

𝟎

=
𝟏

√𝟐√𝟐 − 𝟐
𝐭𝐚𝐧−𝟏

(

 
 

(𝒕 −
√𝟐
𝒕 )

√𝟐√𝟐 − 𝟐

)

 
 

|
|

𝟏

√𝟐

= 

=
√𝟐 + √𝟐

𝟐
(𝐭𝐚𝐧−𝟏

√𝟐 − 𝟏

√𝟐√𝟐 − 𝟐
) − 𝐭𝐚𝐧−𝟏 (

𝟏 − √𝟐

√𝟐√𝟐 − 𝟐
) = 



 

=
√𝟐 + √𝟐

𝟐
𝐭𝐚𝐧−𝟏

(

 
 

𝟐√𝟐 − 𝟏

√𝟐√𝟐 − 𝟐

𝟏 −
(√𝟐 − 𝟏)

𝟐

𝟐√𝟐 − 𝟐 )

 
 

=
√𝟐 + √𝟐

𝟐
𝐭𝐚𝐧−𝟏

(

 
√(𝟐√𝟐 − 𝟐)(𝟏𝟐 − 𝟖√𝟐)

𝟒√𝟐 − 𝟓
)

 = 

𝛀 =
𝝅

√𝟐
− 𝟐𝑨 =

𝝅

√𝟐
− √𝟐 + 𝟐√𝟐 𝐭𝐚𝐧−𝟏 (

𝟐√𝟐 + 𝟏𝟎√𝟐

𝟕
) 

Notes: 𝐭𝐚𝐧−𝟏(𝒙) ± 𝐭𝐚𝐧−𝟏(𝒚) = 𝐭𝐚𝐧 (
𝒙±𝒚

𝟏∓𝒙𝒚
) 

Answer: 

∫
𝐭𝐚𝐧−𝟏 𝒙

√𝒙 + 𝟏

𝟏

𝟎

𝒅𝒙 =
𝝅

√𝟐
− √𝟐 + 𝟐√𝟐 𝐭𝐚𝐧−𝟏 (

𝟐√𝟐 + 𝟏𝟎√𝟐

𝟕
) 

 


